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May 10, 2022 11:33 AM Physics 12: Electrostatic Test Review 1

1a) Determine the electric field at point P
1b) Determine the electric force on an electron placed at point P
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2 a) Determine the electric field at point X

2 b) Determine the electric field at point Y L1.8x10? N chf]

2 c) Determine the force on an electron placed at point X [52x(07° N ] Lett.
2 d) Determine the acceleration of a proton placed at point Y
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3. For each of the following diagrams, determine % i
a) The electric potential difference between points X and Y. ch'-' lmp t2m, = 4 m,,

b) The work required to bring an electron from Xto Y.
¢) A helium nucleus is released from rest at X. What is its speed at Y?
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